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FEEUT /1 B3 Version 06403
Section 4 | <<W?77 ﬁ@ﬂmﬁjﬁ» ﬁ@‘lﬁ

31-40> completion

31 Caused by- unpleasant on the nose

- faster | il rate

- watery eyes D ﬁ.rz:‘g-; s

eyes’ production —tears | \19 —7\ e
32 phonic sneeze : an

reaction f\
(IELTS  test  papers  offered by A;’;é;ﬁg
ks.ipredicting.com, copyright)
33 caused by the nerves endingsin[_] iPhone
(IELTS test papers offered by ks.ipredicting.com, copyright) 'Z;LQPEP
34 air speed is like a personal iﬁﬂ'ﬂ%

({1ELTS test papers offered by www.iyuce.com, copyright) o
35 like production of[[__ ] in the eyes \—




A photic sneeze is a sneeze that results from exposure to a brtght light. The photic
sneeze reflex seems to be caused by a change in
light intensity rather than due to a specific
wavelength of light.

39 it will happen after certain of

40 Government conduct experimenton| | .]it is not affected to most of the ~
(IELTS fest papers offered by ks.ipredicting.com, copyright)
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FEEUT /1B Version 06403

Section 4

31-40> completion

31 Caused by- unpleasant on the nose
- faster_ rate
- watery eyes E TR ASY

eyes’ production —tears ’X\*D —7\ ? o redictiing
32 phonic sneeze : an _

reaction
(IELTS  test  papers  offered 8- Rsscbi
ks.ipredicting.com, copyright)
33 caused by the nerves endings in - iPhone
(IELTS test papers offered by ks.ipredicting.com, copyright) z;l‘ég
34 air speed is like a personal T

NSeE
(IELTS test papers offered by www.iyuce.com, copyright) f?'k_he.
35 like production of [ ] in the eyes \—




37 phonic sneezers are
share the same habit of |

" lofthe fire (Aristotle thought)

— S— -

common

AAREAREATRAA, pRELEEFERERARLSRLFHILE
38 dependonthe[l lof[ ] el

A photic sneeze is a sneeze that results from exposure to a bright light. The photic
sneeze reflex seems to be caused by a change in
light intensity rather than due to a specific
wavelength of light.

39 itwill happen after certain of

40 Government conduct experiment on - it is not affected to most of the ~
(IELTS test papers offered by ks.ipredicting.com, copyright)

FARRMPE A, FRE-BLFLFARIABELEANEREL, wFEAER .
i A (pad, 9.0 B FEKMA LT £




‘ RT3 3 Version 07401
CHT 37 L7Y 3

31-33) Multiple Choices:
31 The disadvantage of old teaching method: MORE
A Too much time to orgamze INFORMATION
B needs some speci
(Ol Too much information in lecture
KB RE lecturers..... IHE A FNTE8 T ZETR Z0T [, AR E 1T 7] 5 7% 27
w fd 5k COST 77 & A EYFE, Jir LLIRRT 5725 8E2% T, 28iE T — 1 1" ABI new system
RAMET R EREREN, do XM E &K 5 B0 R A SR I o9
32 ABI evaluate students by:
Y The process students/ participants go through
B Presentation
C
33 what is so special about this system?
they need specialized people to operate
B Cost too much time.

C e e e e L ICR i 5 — %) 14 but what is groundbreaking

is that we use many different data, but... ...
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34-40) Filling the gaps in the diagram.
34 first decide on establishing
35 you can compare:
(test papers offered by www.ivuce.com, copyright)
36 Choose a

37 each group should make an *

(test papers offered by www.iyuce.com, copyright) ,
38 title of the project: in Scotland GlobalHchonPlan

39 L0117 should limit use of 1120 1)
40 EEX AR and submit written

EHEARMMAA, FAF—hHCEERERENERNOEBEL, bEEEES -
540 (pad, TR0 B RAEBAMCF £ 4 | (HH)




BT /138 Version 07401

Section 4

31-33) Multiple Choices:
31 The disadvantage of old teaching method:
A Too much time to organize

B needs some specialized people to operate
(Ol Too much in lecture

MORE
INFORMATION

XEHMRE lecturers..... HHE [ FNTHE ity LR Z 0T TN, A TR Z 1 7] 4 s, 28 /7
%W 735t COST i &5 VI Jr ELIART 75 7 88X T, 20k 77— 1M1 ABI new system

ARAREA REATRAN, +o XL K KLY M40 A K 3P 69z

32 ABI evaluate students by:

The students/ participants go through
B Presentation

o he final presentation

33 what is so special about this system?
. they need specialized people to operate
B Cost too much time.

cE T TG i 401 but what is groundbreaking
is that we use many different data, but
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34-40) Filling the gaps in the diagram
34 first decide on estw
35 you can compare:

(test papers offered by www.iyuce.com, copyright)
36 Choose a

37 each group should make an ﬁ

(test papers offered by www.ivuce.com, copyright) |
38 title of the project: in Scotland GlobalRctonPlan

39 [E 0] should limit use of [ ]

40 TR HIAM and submit written |

LAERMME R, FRAG—BLEFBHALNE RN ERES, pEELAESL .
44 (pad, € 4%) F RAEK AN E-F & | (HBRH)
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R 1 B3 Version 07415
Section 4 (T AFRMHLELTY 5

31-40) completion

31 Compare with Science what is difference 0.¢ @
)

YNEngineer concerns Social dimension e Q
B They handle research fields separately and independently =~ ENGINEER WANTED

(& Engineer will cover society of wider rangé

(test papers offered by ipredicting.com, copyright)

32 What does the example of vacuuming cleaner suggest?
not recognize accidental success in engineering

(NCCIDENTAL FART

NOBODY HEARD

B Talking about scientist
C Both Engineer and *** have strict standard and reculation.
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15th century:

How about Engmeermg in 15th century, make things like wood rackets etc.

being questioned and then bacl( 10 modlﬁi deslgn lhI.S is a
cycle)
17th century: Engineering was about to do a model of ship.
Drawing appeared
35 machine design can | -




prediciing

Military Engineering
Civil Engineering
Mechanical Engineering
Electrical Engineering

Chemical Engineering




An accldental success

19014, FeE AR TAZMH- 28 04 /K A B 2 {E 32
KR 0w B SR T 2R E R AR PR A A
ANVEERTH . S BR AR A% B9 I AR R B2 H XGE
KRAEWGE, HAERKFATBMF, Bl i) A
AR AT B AR KA. AT IR, AN
5o BRI ERAAFHRIEARA T, (HEX T
BRI E LR U2 TR “BRIAMK
AT, MBEEARERNE? 7 BEXE, MEWE TN
R S R RFIRAER TIRF L,
XE PR, GRMEFHN LT —RK4A. L
AR R A G A SR, XANTEAAT. Z
Ja, A H R R TRANRE, B
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(L bwere firstly applied (then engineering start to use model)
19™ century: Engineering example of doing a big project.

37 more are involved

(test papers offered by ipredicting.com, copyright)
20th century: Engineering advantages

38 it greatly increased its processing |/ i/- - !
39 deal with [diiil

STOCKPORT
VACUUM
pinowa 8 0 s

SHAND MASON STEAM
FIRE ENGINE

EDWARDIAN ELEGANCE -
MIDLAND AND GREAT 7
NORTHERN JOINT

RAILWAY LOCOMOTIVE

A VISIT TO THE
SEATON TRAMWAY

* gy i e

Ve

SPEED
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Evolution cycle

Identify Need or
Problem

Communicate the Research the Need or
Solutions Problem

Test and Evaluate the Develop Possible
Solutions Solutions

Determine which
Construct a Prototype Solution Best Solves
Need or Problem
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19® century: Engineering example of doing a big project. -

37 more are involved SPEED

(IELTS test papers offered by ipredicting.com, copvright)

20th century: Engineering advantages 2 5

38 it greatly increased its processing

39 deal with (Complex)
design

40 need not tog to discuss (designers can
discuss and need not to meet each other )
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31-40) completion .
31 Compare with Science what is difference o @
INEngineer concerns Social dimensior *{}o 0

B They handle research fields separately and independently ~ ENGINEER WANTED

e — (ACCIDENTAL FART
(test papers oﬁ'erea’ by zpredzctmg com, copyrzght)
32 What does the example of vacuuming cleaner suggest‘?

B Talkmg E— 4
C Both Engineer and *** have strict standard and regulation. NOBODY HEARD
15th century:

How about Engineering in 15th century, make things like wood rackets etc.

33 Design and

(same person does design and manufacture at the same time in the past)

34 the process of (engineering just like evolution, keep designing and
being questioned and then back to modify design, this is a
cycle)

17th century: Engineering was about to do a model of ship.

Drawing appeared |
35 machine design can (copy and imitate) lot of
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cycle)
17th century: Engineering was about to do a model of ship.
Drawing appeared
35 machine design can (copy and imitate) lot of
parts
36 Ewere firstly applied (then engineering start to use model)
19" century: Engineering example of doing a big project. SPEED
37 more are involved
(test papers offered by ipredicting.com, copyright) 2 5
20th century: Engineering advantages
38 it greatly increased its processing| -
39 deal with _( Complicate) desngn

40 need not t to discuss (designers can

discuss and need not to meet each other )
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HE R - E B Version 09425
Section 4 CHUr A1 dipLZ14y 8171

31-40) Completion

31 can smell & VTR TS
32 some beetle larva can only recognise the Df viu

I
"
L]
i
[}

33 Queen bee use their smell to [ 0] ...
(IELTS test papers offered by ks.ipredicting.com, copyvright)

RAREFREASERA, PRELZESEREEARSR LML
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iPhone

35 Dbee use their use their |- (-2 when they sting b
36 snake’s sense can bein the [ ] BAEE

37 snake identity the: MDf a mouse body

38 use their location and **** 1171 F 1 “lof a mouse
W B8 SR Tt B JE 4 %*U%Jﬁ TR AR £




chimpanzee crocodile

flamingo | || cockroach
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37

snake identifty the: ||:lf a mouse body

38 use their location and **** of a mouse

g

E 1% T RGP B T U R 5 S A ) R A

39 dogs: can distinguish kinds of smells even they use their

find the food over one meter .taste good

(IELTS test papers offered by ks_ipredicting. com, copyright)
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FEEIT /738 Version 09425
Section 4

31-40) Completion

31 can smeit [N -

32 some beetle larva can only recognise the [0 Hof vme-
I Binm h.58
predicting
33 Queen bee use their smell to - ...........

((est paper s oﬂ‘ered by wWww.ivice. com, copynghl)
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34 to attract male just like female .. .. perfume...
35 Dbee use their use their -/feet when they stmg

36 snake’s sense can be found in the

37 snake identify the: -of a mouse body

w 38 use their location and *“*”‘_)f a mouse

’ §% e R B O R A SR R s P RO A B

39 dogs: can distinguish kinds of smells even they use their
find the food over one meter ,taste good

(test papers offered by www.ivuce.com, copyright)

40 calculate the
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TR HE M Version 09159/40112

Section 3 CUT 7T HLZ16) 5

21-30) Completion

A Introduction: ‘;’ﬁle f'y"g—"g'
B Review of literature: redicfing
Theory: The first: Dowerton’s theory of experience 6
21 The second: Salinger’s theory of 21 App StorelE®
m# Theory of e ad
Body iPhone
FHAPP

» Two way approaches (Z2 methods)

22 approach

(test papers offered by www.ivuce.com, copyright)

23 approach

C Research techniques:
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»  Two methods: L —_—

24 interview and [ 0ol L ( FE AR
Respondents Mature students-further education colleges;
25 The number of respondents: [1] (72 i 450, /& #eH7# a hundred thirty six)

» Difficulty and problems:

26 Problem: flack of ||| Because of bad design of the instrument... ... our students
didn t do well.
27 Some students’ study has courses 1ssue.

» Finding:

28 Bad instrument design, e.g., some of our ||| = [\ Won t work well. Some
questions in the survey are useless.

Compared with the younger ones: the mature students have greater

independence

29

. " .| And their learning styles

30 Mature students had a great variety
are better
Conclusion
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FEEWT T E B Version 09159/40112

Section 3

21-30) Completion

A Introduction: ﬁ.fﬂﬂnj ‘J‘ et
B Review of literature: rediciing
Theory: The first: Dowerton’s theory of experience 6
21 The second: Salinger’s theory of 21 _ App Storel®
## Theory of ey
Body iPhone
F#HLAPP
» Two way approaches (Z2£ methods) REEE

22 [ approach il

(test papers offered by www.iyuce.com, copyright) Aﬂ

23 approach

C Research techniques:
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# Two methods: L s
24  interview and -

Respondents Mature students-further education colleges;
25 The number of respondents: [ (774 3% 450, 075 a hundred thirty six)

» Difficulty and problems:

26 Problem: _ Because of bad design of the insirument ... ... our students
dichn ¥ do well.

27 Some students’ study has - courses Issue.

» Finding:

2& Bad instrument design, e.g., some of our -if:w t work well. Some
questions in the survey are useless.

29 Compared with the younger ones: the mature students have greater

30 Mature students had a great variety _ And their learning styles

are better

Conclusion
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T 1B Version 10146
Section 3 CIF AL 16) FE251

21-23) multiple choices (1 on 3) s Ao s

21 why did Lucy (the female) choose journalism prediciing
A money B status C (money does not matter &

and status is insignificant )

22. how many students can find their jobs on completion of the course : 7

A 66% (other school 15 2/3, 66%) BELEE| C 98%

23. why did Lucy (the female) choose the **** 7 ZEZ{FEFN

\ theoretical background | Ke=E sz Ly -0 0 : Ml workplace

C TV facilities (TELTS test papers offered by ks.ipredicting. com, copyright)




Riam WY os
predicting

4-25. why did jack (the male) choose science
pX W easy to understand EUBSCWAN challenging
(IELTS test papers offered by ks.ipredicting.com, copyright)
26-27) the (girls’) school: though it is not inside downtown , but social life is good:

because 26 a [l ..t |and 27 flets of - | | (cinema I think it is more convenient)

28 the boy’s school can organized :lots of
29 the girl plan to live in students accommodation
for: (stay on campus accommodation at year 1/2 and
year 3, most people would like to stay on campus for 4 years.)

30 after, she plans to move to rent : i apartment

United States of America
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BT /B8 Version 10146
Section 3

21-23) multiple choices (1 on 3)

ZETOR AR

21.why did Lucy (the female) choose journalism predicting
N

A.money B.status C[L | (money does not matter ~ &>

and status is insignificant )

22. how many students can find their jobs on completion of the course : 7

A 66% (other school is 2/3, 66%) B -l C 98%

23. why did Lucy (the female) choose the **** ? ZRIFAH G
AR (4o b B R

TV facilities (IELTS test papers offered by ks.ipredicting.com, copyright)
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24-25. why did jack (the male) choose science
+ IR o i 25 [
(IELTS test papers offered by ks.ipredicting.com, copyright)
26-27) the (girls’) school: though it is not inside downtown , but social life is good:
and 27 _I(cinema [ think it is more convenient)

=t 3

because 26 a

Amateur Radio Clubs

United States of America

28 the boy’s school can organized
29 the girl plan to live in students accommodation
for:_ (stay on campus accommodation at year 1/2 and

year 3, most people would like to stay on campus for 4 years.)
30 after, she plans to move to rent : H




